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=) 4 i £ el 5 ¥ = — g ) 78 ES
HEAE R 1
B R pmas | xase | miuses | e | TR xpex | xnwe | mseg | Eusie
kL * * % * % * * % * %
e | & W E 18 5 27.8 1 5.6 12 5 41.7 2 16.7
H R 1 12.5 1 12.5 4 1 25.0 —
=) * 1 16.7 2 33.3 X X X X X
il f £ 10 1 10.0 2 20.0 X X X X X
% H 3 42.9 - — 4 2 50.0 1 25.0
4 | W iz 1 14.3 — — X X X X X
& = 3 33.3 — — X X X X X
G 47 10 21.3 5 10.6 15 5 33.3 2 13.3
* W 17 8 47.1 2 11.8 6 2 33.3 — —
e Ui N — — 1 12.5 3 3 100.0 — —
| B 5 3 37.5 1 12.5 3 - - - -
2 ES — - 1 11.1 X X X X X
& B 31 10 32.3 1 3.2 7 1 14.3 1 14.3
w | & By 5 1 20.0 2 40.0 7 3 42.9 1 14.3
F 78 22 28.2 8 10.3 X X X X X
T # 19 6 31.6 3 15.8 - — - — -
| R Iy 33 5 15.2 1 3.0 9 3 33.3 — —
o &= I 14 - — — — — — — — —
oW L 7 2 28.6 1 14.3 — — — - —
G 73 13 17.8 5 6.8 9 3 33.3 — —
=] 1N 9 3 33.3 1 11.1 X X X X X
& g I 1 5 45.5 — — — —
& H: 6 1 16.7 — - X X X X X
i 26 9 34.6 1 3.8 X X X X X




153 B 13 5 38.5 1 7.7 - — — —
# (i fif] 23 15 65.2 1 4.3 X X X X X
L ysl 15 5 33.3 — — 3 2 66.7 1 33.3
= & 14 3 21.4 2 14.3 X X X X X
i 65 28 43.1 4 6.2 X X X X X
i3 (= X X X X X 12 7 58.3 — —
L Al 4 1 25.0 — — 4 — — 1 25.0
SIS 53 18 2 11.1 — — 8 6 75.0 — —
s JeE 31 9 29.0 1 3.2 11 3 27.3 2 18.2
| & B 3 2 66.7 - - 3 1 33.3 - -
Fn B 1 X X X X X X X X X X
% X X X X X X X X X X
)= il 8 1 12.5 1 12.5 - — — — —
s = Gits 12 5 41.7 — — 5 4 80.0 — —
fi] 1N 14 7 50.0 1 7.1 X X X X X
I = 24 6 25.0 1 4.2 — — — — —
B 1N} = 10 2 20.0 — - — — — — —
7 68 21 30.9 3 4.4 X X X X X
18 = 1 25.0 — — X X X X X
& & ) 1 16.7 — — X X X X X
% % 15 4 26.7 1 6.7 8 3 37.5 1 12.5
LA = gl 14 3 21.4 2 14.3 X X X X X
2 39 9 23.1 3 7.7 12 5 41.7 3 25.0
& fi] 25 4 16.0 2 8.0 7 — — — -
3 e = 1 20.0 — — X X X X X
oL 3 3 42.9 — — — — — — -
i 37 8 21.6 2 5.4 X X X X X
fg VN 29 11 37.9 1 3.4 3 2 66.7 1 33.3
g | K 5 2 25.0 1 12.5 3 — — 1 33.3
= W 3 33.3 - — - — - - -
AlE W OB 22 3 13.6 1 4.5 X X X X X
7t 68 19 27.9 3 4.4 X X X X X
& G 578 158 27.3 36 6.2 145 56 38.6 17 11.7
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